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Wk [PFERUEOEEM]0.1me/2|0.1Tme/Q] — - - |0.01| - - - - - - - -
FILXILIKER |awensoce]musnunze] - - - |Fr| - - - - - - - -
RIEILETZTZ)L [0.003mg/2]0.003mg/2] — - — |<00005| - - - - - - - -
r)oOBIFL2]0.1mg/210.1mg/Q| - - - |<0.03] - - - - - - - -
75T FL2|0.1mg/Q)0.1mg/2] - - - [0.01] - - - - - - - -
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ARSI L 0.003mg/2]0.003mg/9] - — — |<o0003] - = = = - - - -
£n 0.01mg/2] 0.01mg/2| - - - [0.001| - - - — = _ - -
i 2= 0.05mg/2 [ 0.05mg/2| - - - [<0.005] - = - - 1 -1 -1 =
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o e |1, 2-24/00x142]0.004mg/2]0.004mg/2] - - — |<00004[ - - - - - = = -
1, 1-2oanxFLy| 0.0mg/2 | 0.1mg/2 | - - - [<0002] - - - - - - -
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L 0.01mg/2] 0.01mg/2| - - - [<o.001] - - = = - - - =
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PZIEI=EX P 0.02mg/2] 0.02mg/2| - - - [<0.002] - = = = - - = —
=4y |EEIERER 0.002mg/2]0.002mg/Q] - - — |<ooo02| - - - - = = - =
a5 TiReED |1, 2-29/00142]0.004mg/2]0.004mg/2] - - — |<o.0004[ - - - — — — — -
1, 1-2yaRxFLr| 0.1mg/2 | 0.1mg/2 | - - - [<0.002] - - - - — — - =
1, 2-oy00xFLr | 0.04mg/2] 0.04mg/2| - - - [<o.004] - - - = = = — _
1,1, 1-pyynozsy]  1mg/Q 1mg/Q - - - <0.1 - - - — - _ — -
1,1, 2-b)y00x5210.006mg/2]0.006mg/Q] - - — [<0.0006] - - — — — _ — -
1, 3->40n7nxy [0.002mg/2]0.002mg/9] - - - [<o0002] - - = - = = - =
Fo35L 0.006mg/2|0.006mg/2| - - — |<o00006] - - = - — - - -
ROV 0.003mg/2]0.003mg/Q] - - - [<oo0003] - - - = = = - =
FARAILT | 0.02me/2]0.02mg/2] - - - [<0.002] - - - - - = - —
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